=3
Al H4KI% 57} 5 RIRIRlE

1. 284282 1771=)

LAZHL 09 109 o]F A dY F2eg] 233}, 2.11), A& F TAQ44 2.13),
oF AFHA| (253}, 2.14), AE A F22)(263}. 2.16) 5 4 Al 7} A7t H4E S Eh =l
Ak,
O o]F A JUQ3AD, HE H324xD), T FY@5hE Fe=E AHHIY, AE 4
Al Fe8] 572 AL FolH,

O RAE7HA] Al A 3= & 2674 01H o] 7k -2 207, 2482 57, AAES 13dolH
* A HSEE) © (2B) 18857} 404284 (H12) 557+ 1013442 1627 )

O oRIZF ZARE 2€ 104 ©1F 4 45, 5 oA 71 Aol e A=7A
% 264710 QF=]o] o]F ok 247, 24 2214, AL 5 1970l BrE T

(B 1) Al A2, 17 01A] 7I1F)

Amis HAE
_ Sz
a7 216 = 3 24 s A
25 1 26 20 5 1 26 20
216 : M2 ZX 32| 57t (26KH)

48 201402




2 &ilE B3

oA 147 (B0%)°] FHEY 2=

ERt,

il 2| AR

9

=
Tb&
)
= A

il
ol
5

o}o

o

Qi
573°l

HO
ELE—=]
S 7
o= AEtE THY EYAP

|
BLA
L o

=2 ATV}

9o

e

olEAIRt &

=

AT

0] 20% o=,

A= Selvtetet SAsH

S =2 20~60%71A] A=l o 80%

st

A
=

© = e (3km, 10km)E

* 2120 224 020y, 2i=91 P2}

HA 1 80% LA

2 9 A% 0jof3

A

A=ol| A=

]

il

A

gk, o]

3ff <]

=i
[~

3 I8 &

HO
T

y

X

* Qo UEX|S0| CHEF ofE At
2003 HZ2=0lN 1Km 72

AE Sfstel 9]
o o)

F

0
=~

or

A

= Al

F3olA
21 (3km o] )] o= A4

]

<

Ho

Uz xIef L

+]

<

1=}
Eum

3
=

g

FS
ey

S7HeF 1942k 2004 FHLICE

OflAf 3km XIHOfA] OF 48 =7(OF 178

)

A
T

al;

H

i AALE A7 AACH,

to] X244 A2 W 7% of s

5

SRR 271

vigoz 2

L= L=
= dds

pELELE R

a7t 5m7] 49



£z

Al 28XIH 57t S XX

O EFH 10094 TR A% 77) =
2 ZFBYAZE Befelr]z shgon

(ZIZEAIMI2] 60% XIiE)

(ZIEAIMIS] 40% XIE)

(ZIEAIMIS] 20% XI)

A= ESH Ui TIZRE HE 2.21A7MA] &4 450H5E v|= A
S 8k 2,154 FA HIZF AR H|ES o,
40A3IAAL, 2.2147HR] 450H 45 H|= O 29T/ = ESH 1009 B|&2 &
S Alglolafar viglct 28 A goltt &&
[22 1] Al B3 AXE 2MZ 2o 7|2
@ A20% ® A40% ® AB0% @ AB0% ® A80%

(ZIEAIMIC] 20% XIZ)

UHEA0| oy A | WHSN0| QR Al | WHSN0| 92 Al | IME EE oY X
£2 Ueht W EE | 2 Usidt o) o | 22 Uit 2ol O | XIF 37 01y olol
3 OlH0| MEHD | SYE| 4Y ol | SERE 5U ZuE | Y
O ZXE BF 0l | MBBIHIAL, off | MTBHHIALL, of
3t 22 ZAE VHE 001 | ZXI5 24E 0j0j

BSExE

D3 715 L B 712 JHS0) Chet HA- FAL - S S

@ Bzl BE

@ AE

@ 7159 22| EE 0|SHE S

® A 0l

O~ @ 7z0= 2
TolL oRfel MRS
oL 17HE ST
20%Bt X1&

e=FQIZ=A g 0]

AT

Q[FlZ=Xto| Chet

(e}
dAu= 8l

A= 0jo|

50 201402




o
L2

XS X=(2.16 71F)

ZROISTNA) LY B U 2 &

o

HPAIZ A = ZF
IH 522)(1.27)

HH §g2a|2])
B ey 52222
® $EasT

® A EQLS 7D
® 25865

y o <.
45F

.

e
g
\

/,
| Se e s, mr L - ]
.5‘.
-

f .*‘ Al ~
e
‘1‘3 554
{
[
/

AR T

a7t stmy| 51

5





